n ack We promlse you're going to have a great experience.

SOI““ons Baldlytreatlve Expert Customer Service Focus On Quality Ships Same Day

2U Cobra 135-A Rail for Dell

Installation Instructions

Kit P/N: 122-9089

RackSolutions.com If we can’t mount it, no one can.



Kit Contents

Kit Contents: Mounting Hardware:
(2) Outer Rail (Left & Right) (22) 8-32 x.500 Pan Head Screw
(2) Inner Rail (Left & Right) (2) Latch Plate (Left & Right)
(2) Rear Bracket (2) Mounting Plate

Rear Bracket Hardware:
(9) 8-32x.312 Flat Head Screw
(9) 8-32 Keps Nut

4Post Installation Instructions

Step 1 Rail Attatchment: Attach the Inner Rail to the chassis by aligning the
Shoulder Lugs with the keyholes in the Inner Rail and slide until the
retaining clip has secured the Inner Rail to the server. Repeat for the
other side.

Lug

Inner Rail
Labeled "R"

Step2a  Attach Rear Brackets: _ Attach the Rear Brackets to each Fixed Rail using the
provided (4) 8-32 Flat Head Screws and (4) 8-32 Nuts. Do not fully tighten the screws
until after Step 2b. Always install the (4) screws and nuts as widely spaced as
possible. Repeat for the other side (right side shown).

Rear Bracket

Screw

Upright

Step2b  Tighten Rear Brackets: Hold the assembled rail up to the rack; adjust the rear bracket
to ensure that the rail is pushed up against the inside of the front and rear upright.
Once the rail is at the correct depth, tighten the (4) screws and nuts. Repeat for the
other side.

Page 2

RackSolutions.com If we can’t mount it, no one can.



4Post Installation Instructions

Step 3 Attach the Rails to the Rack:  Attach the Front and Rear of the rails to the 4Post rack
as shown below using supplied 8-32 Pan Head Screws on each side. Repeat for the
other side (Right side shown).

(10) 8-32 X .500 Pan Head Screws

Mounting Plate

Outer Rail Note: Latch Plates

should have their
"hook" positioned
towards the middle of
the rack.

Latch Plate

Note: When using a
SQUARE HOLE __rack,
the Latch and
Mounting Plates have
alignment assisting
Dimples. Make sure
the dimples sit within
each square punch
before tightening the
screws.

Step 4 Install the Equipment: _Slide the equipment all the way into the Outer Rail Slides;
ensuring the Inner Rails slide into the Inner Rail Catch Brackets.

Inner Rail Catch Bracket

Outer Rail Slide

Server
Page 3

RackSolutions.com If we can’t mount it, no one can.



n a ck We promise you're going to have a great experience.

snlllllﬂlls Baldlya'eative Expert Customer Service Focus On Quality Ships Same Day

You're going to @@ working with us
Global company - small town service

On-Site Manufacturing

: Our_manufacturing facility is on-site at our
electrical engmeers are ava Texas headquarters. If we send them a drawing.
your toughest custom design challe in &Qe morning,“we can have- parts-ready to

- | ==1S ship-out that evening.

i R : Advantage
anda ways growing‘ Customer support, engineering, and logistics are
Our distribution centers are packed. Check our standing by to get you whatever answers you
website to see if your solution is ready and need. Even if that means walking down and
waiting. Our availability is shown in real time. asking the guy who made it for you.

Warranty Statement

Innovation First, Inc. warrants our products against defects in material and workmanship for a
period of one (1) year from the date of purchase. Innovation First, Inc. liability shall be limited to
repairing or replacing, at our option, any defective product.

RackSolutions.com If we can’t mount it, no one can.



